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QUESTION 1

You have started a Green IT programme. Which of these is a critical success factor? 

a.Developing staff with the right knowledge and skills. 

b.Defining clear staff roles and responsibilities. 

c.Establishing and maintaining stakeholder buy-in. 

d.Establishing staff disciplinary procedures and penalties. 

A. c and d. 

B. a and d. 

C. b, c and d. 

D. a, b and c. 

Correct Answer: D 

 

QUESTION 2

Which of the following activities would make data centres more energy efficient? 

a) Consolidate systems onto a smaller number of servers. 

b) Position servers as close together as possible. 

c) Ensure hot and cold airflows do not mix. 

d) Retire all unused and unnecessary data storage capacity. 

A. b and d only. 

B. a, c and d only. 

C. b, c and d only. 

D. a, b, c and d. 

Correct Answer: B 

 

QUESTION 3

Which of the following uses Greenhouse Gas conversion factors to work out CO2 emissions? 

A. The ROCI Matrix. 

B. The Emissions Reduction Flowchart. 
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C. The Carbon Footprint Calculator. 

D. The Electronic Product Environmental Assessment Tool. 

Correct Answer: C 

 

QUESTION 4

Which of the following is a method for managing risk? 

A. PRAMM. 

B. TRAMM. 

C. CRAMM. 

D. GRAMM. 

Correct Answer: C 

 

QUESTION 5

Which of the following best describes the goal of capacity management? 

A. The process of ensuring IT services meet user demand. 

B. The process of ensuring the optimum use of data storage. 

C. The process of ensuring the availability of new systems. 

D. The process of ensuring data is available on demand. 

Correct Answer: A 

 

QUESTION 6

Which of the following is the best definition of ilicon offsetting? 

A. Removing the footprint by replacing IT with manual processes. 

B. Purchasing credits from elsewhere to offset the IT footprint. 

C. Increasing the footprint elsewhere to reduce the IT footprint. 

D. Increasing the footprint of IT to reduce the footprint elsewhere. 

Correct Answer: D 

 

QUESTION 7
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Which statement best describes the purpose of a Green IT policy? 

A. To ensure an organisation IT meets green legal requirements.To ensure an organisation IT meets green legal
requirements. 

B. To inform stakeholders of an organisation Green IT approach.To inform stakeholders of an organisation Green IT
approach. 

C. To allow an organisation to measure its Green IT performance. 

D. To ensure Green IT is as important as other organisational initiatives. 

Correct Answer: B 

 

QUESTION 8

The Carbon Footprint comprises two parts. Which of the following is part of the secondary footprint? 

A. Travelling to the office. 

B. Opening a spreadsheet. 

C. Recycling a server. 

D. Printing out a report. 

Correct Answer: C 

 

QUESTION 9

Which of the following is part of an organisation\\'s direct Carbon Footprint? 

A. Financial services. 

B. Office refurbishment. 

C. Corporate entertaining. 

D. Business travel. 

Correct Answer: D 

 

QUESTION 10

Which of the following is NOT an economic benefit of implementing Green IT? 

A. Improved return on IT investment. 

B. Lower energy costs. 

C. Reduced travel expenses. 
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D. Reduced staff wages. 

Correct Answer: D 

 

QUESTION 11

What action can you take to reduce the power consumption of your data centre? 

A. Shut down servers out of business hours. 

B. Replace small servers with larger ones. 

C. Reallocate under-used servers to run active services. 

D. Upgrade servers to always run the latest software. 

Correct Answer: C 

 

QUESTION 12

Which of the following methods is used to assess the full lifecycle cost to a user of an IT service? 

A. Total Cost of Utilisation. 

B. Total Cost of Ownership. 

C. Total Cost of Provision. 

D. Total Cost of Allocation. 

Correct Answer: B 

 

QUESTION 13

Which of the following are products included in the EPEAT Registry? 

a) Monitors. 

b) Mobiles. 

c) Notebooks. 

d) Printers. 

A. b and d only. 

B. a and c only. 

C. a and b only 

D. c and d only. 
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Correct Answer: B 

 

QUESTION 14

The United Nations Conference on Environment and Development is better known as: 

A. Rio Earth Summit. 

B. Rio Climate Carnival. 

C. Rio Environmental Conference. 

D. Rio Global Gathering. 

Correct Answer: A 

 

QUESTION 15

What is a key factor driving Green IT? 

A. Customer satisfaction. 

B. Technical opportunity. 

C. Social pressure. 

D. Legislative compliance. 

Correct Answer: D 
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